Holidays

Homework

Class=7"
Subject= Art and

Craft

1. Make 5 painting of
your choice in the
summer vacation
(Each on different
sheet)

2. Paint a clay
pot/vase and
decorate with
mirrors glitters etc.



MODEL SCHOOL KALANAUR
CLASS-7 SUBJECT- MATHEMATICS
SUMMER HOLIDAYS HOMEWORK

Important points :

1. Do all the given work in good handwriting. (Do it in separate notebook)
2. Learn and write tables from 2 to 30. (2 times)

3. Make a chart or project on Fractions.

4. Do practice of Chapters: 1,2 with examples and try these. (Do it in holidays
homework notebook.)

MATHEMATICS

HOLIDAY HOMEWORK




WORKSHEET

Chap. 1 : INTEGERS

is the additive identity and

multiplicative identity of integers.

2.
3.
4.
S.
6.
7.
8.
9.

B N O O
a > @0 dbD =~ O

(-1) x even number of times =

(-1) x odd number of times =

38 + 0 =

0+11 =

13+1 +

55 +

(-31) +
(-99) +
(-33) +

1000 + =-1000

[(-7) + 9] +(__)=9+[-7+ 4]
(-6) + 2 = 2 (

251 +
(-70) *




22 + =-11
1) x (1) x (1) x (-1) x (-1) =

I ANSWER THE FOLLOWING :

1. A man travelled 30 km east of a place A and reached B. From B he
travelled 60 km west of B and reached C. Find the distance of C from A.

2. A man has Rs. 20,000 in his account in a bank. He withdraws Rs.
3000 per month for the first two months and deposits double of this
amount on third month. What will be the balance in his account after 3
months?

3.  Verify a— (-b) = a + b for the following values of a
andb.i) a = -17 b= +15 i) a
=50 b =21
Use >, < OR = symboils in the blank space in each of the following
a. (-3)- (9 (-4) + (-9)
b. 71 -2-31 71-2 +31

c. 39 + (-35)—(58) 37 + (-11) - (+26)

d. 23 + (-8) -7 9-13+ 12

5. The temperature at a place rises from — 20% to 20%. What is the
rise in temperature ?

6. A place P is 82 m above the Sea level and another place is 13 m
below the Sea level. What is the distance between the two places?




Write down a pair of integers whose
i) sumis -6 ii) difference -8
iii) difference 3 iv) sum O
Write a negative integer and a positive integer whose
a) sum -9 b) difference -4 c)sum O
Find the value of each of the following products
i) (-3) x 15 i) 4 x (-13) i) (-23) x (-31)
iv) (-3) x (-2) x7 V)2 x(-3) x (-1) x (-5)
vi) (-259) x (-51) x O Vii) (-8) x 2 x (-3) x 5 x (-1)
viii) (-2) x (-4) x0 x(-6) x (-8) ix) (-5) x (-3) x (-4) x (-6) x (-7)
Verify the following
i) (-25) x [ (-7) + (-15)] = [ (-25) x (-7)] + [ (-25) x (-15)]
i) (-7) x [(-8) + 9] = [-7 x (-8)] + [(-7) x 9]
11. What will be the sign of the product a x b if

i) ais the product of 5 positive integers and b is the product of 9
negative integers.

ii) ais the product of 6 positive integers and b is the product of 8
negative integers.

i) ais positive and be is the product of 50 negative integers.

12. Find the value of a if product of a with -

1isi) 200 ii) 0 iii) -300




Find the product using suitable

proportion :- a. 8759 x 2391 - 2391

X 7759

b. (-9785) x 937 + (-215) x 937

c. 35 x (-25) x (-4) x 10

Find the value of each of the following

) 39+ (-13) i) (-729) + 9 iii) (-144) + (-12)
iv) (-20000) + (-200) v) 20513 + (-1)

V) (-49) +[(-48) + (-1)  Vvi)[84+(-12)]+ 7

viii) [(-10) + 5] + [ 20 + (-15)]

15. In atest (+5) marks are given for every correct answer and
(-2) marks are given for every incorrect answer.

i) Rohan answered all questions and scored 24 marks
though he got 8 correct answers.

i) Smitha answered all questions and scored (-15) marks
though he got 3 correct answers. How many incorrect answer had
they attempted?

16. In a class test containing 15 questions 4 marks are given for
every correct answer and (-1) marks are given for every incorrect
answer.

i) Gokul attempts all questions but only 6 of his answers are
correct. What is his total score?

ii) Neena gets 12 of her answers correct. What will be her score?




WORKSHEET

Chap. 2:Fractions and Decimals

1. Which one of the following is proper fraction?
a) 5/7 (b) 2/3 (c)7/4 (d) 3/4
2. Which of the following fraction has denominator 8.
(a) 3/8 (b) 8/3 (c)18/5 (d)3/18
3. What is the value of 7/2+7/3
(a) 14/5 (b) 7/5 (d) 14/35
4. What is the value of 8/5 — 8/3
(a) 16/37 (b) 81 (c) 8/2
5. The product of 3/1 and 1/5 gives
(a) 20/3 (b) 12/5 (c) 5/12 (d) 3/20
6. Which of the following fraction has denominator 8.
(a)8/3 (b)3/8 (c) 8/3 (d) 5/7
7. What is the value of 2/3 +1/3 +7/3
(a) 10/3 (b) 10/9 (c) 30/3 (d) 10/27
8. 7 Rupees 7 paisa can be written in rupees as
(a)Rs7.07 (b) Rs7.70 (c) Rs0.707 (d)Rs 770
9. The value of 0.78 is + 100

(a)7800 (b)0.0078 (c)0.78  (d)7.8




10. What is the sum of 5.300 and 3.250
(a) 8.550 (b) 85.50 (c) 5.6250 (d) 8550
11. Which of the following is the lowest form of 18/36
(a) 6/3 (b) 9/18 (c) 1/18 d) "
12. What is the value of 4/5 — 2/5
(a)2/5 (b) 2/2 (c) 2/15 (d)3/7
13.The place value of 2in 21.38 is
(a) Ones (b) Tens (c) Tenth (d) Hundredth
14. The value of 26.3 is + 100
(a)0.0263 (b) 0.2630 (c) 26300 (d) 26.300

15. Which one of the following is greater

(a)5.0 (b) 0.5 (c) 0.005 (d) 0.05

16. Express 0.041 as a fraction.
17. Write 5/12 as a fraction with numerator 60.

18. The food we eat remains in the stomach for a maximum of 4 hours. For what
fraction of a day, does it remain there?

19. Add the fractions 3/7 and %
20. What is the sum of 5.3 and 3.25
21. What is the least form of 36/18

22. Divide 0.65 by 0.25




23. Simplify: 5/2 + 3/8 + 5/4

24 Express in kg:

(i)200 g (i) 3470 g (ii)4kg 8¢

25. Write the following decimal numbers in the expanded form:
(i) 20.03 (ii) 2.03 (iii) 200.03

26.Vidya and Pratap went for a picnic. Their mother gave them a water bottle that
contained 5 litres of water. Vidya consumed 2/5 of the water. Pratap consumed the
remaining water.

(i) How much water did Vidya drink?
(il) What fraction of the total quantity of water did Pratap drink?

27. Find:

(i) 651.2 + 4 (i) 2.7+ 100 (i) 7.9 + 1000 (iv) 0.5 + 0.25

28. Karin rode her bicycle 2/3 km in the morning and 1/3 km in the evening.Find the
distance travelled by her altogether on that day.

29. A cup is 1/4 full of milk. What part of the cup is still to be filled by milk to make it full?
30. Simplify: 2/4 + 1/3 +3/5

31. Express 6.03 as a mixed fraction.

32. Find the sum:

. (5/8) +(3/10)

. 43/4+92/5

. (5/6) + 3 + (3/4)

. 23/5+47/10 + 2 4/15




Class 7™ Holidays’ Homework Subject: English

Instructions:

1. During summer vacations, one get much time to develop new habits and learn new things. You all are
advised to use this time to pursue your hobbies and find new ways to entertain yourself other than
phone and tv. Start reading books of your interest and if not available, you can start with your
supplementary book, An Alien Hand. You shall surely find some good stories there.

2. Do your work in a separate notebook in which you can do all your subjects in one notebook.

3. Write in your best handwriting and if you find yourself little low then practice one page handwriting
daily.

4. Divide your work uniformly over the whole vacation. Avoid yourself to finish all the work on the last
day. Enjoy your vacation and join your academic session with more joy and refreshing energy with lots
of enthusiasm and happiness. Stay safe and healthy. Follow social distancing and regular hand wash.

Q.1. Read the following passage and answer the questions that followed:
Passage 1

A giant in stature, with long hair, wearing a bottle green fur lined overcoat and round seal skin cap on
his head, Oscar Wilde arrived in New York on 2nd of January 1882 on a lecture tour. He was mobbed by
reporters who asked him (much to his irritation) unimportant questions such as how he liked his eggs
fried? How he trimmed his finger nails? And what temperature he preferred his bath to be? His answers
showed a total lack of interest.

However, when he stepped ashore, the customs official asked, “Have you anything to declare?” and
with customary style. Wilde replied, “No, | have nothing to declare (pause) except my genius.” Few
remarks in history have travelled as widely and as quickly as that one.

Now answer the following questions based on the above passage.

1. Mention two details of Oscar’s physical appearance when he came to New York?



2. Why did he come to New York?

3. Oscar Wilde was not interested in answering the questions of reporters. Why?
4. What does Oscar Wilde’s answer to the custom officer’s questions show?

5. Find a word in the passage which means “exceptional ability in a person”.

Passage 2
2. Eskimos live in the polar areas. They are not usually tall but they have powerful legs and
shoulders. They have a common language and can understand members of another group
although they may come from many thousands of miles away. Marriage is by mutual consent.
They do not have a special marriage ceremony. Eskimos live by hunting and fishing. The Eskimo
snow house, which is called igloo, is very well-known, but in fact, Eskimos usually live in houses
made of wood and turf. When they are not hunting and working, Eskimos like to carve. They use
ivory and wood and they often make very beautiful objects.
Questions For Practice
1. What do the Eskimos look like?
How does a common language help them?
How do they earn their living?
What activities do they engage in during their spare time?
Mention the two types of houses Eskimos live in.
6. Find a word from the passage the means “agreement”.
3. Practice three more passages given in your grammar book on page no. 190 to 193.

vk wnN

4. Learn any two essays given in your grammar book on page 194 to 198 and write any two out of the
topics given on page 199 like Good Manners, A Morning Walk, Children’s Day etc.

5. Write a letter to your friend advising him to follow social distancing, wearing mask and regular hand
washing habits to control the pendemic caused by Corona Virus. Take help given on page 212 of your
book about writing informal letters and leave a message to your teacher if you need help.

4. Look at the words and phrases below in each activity. Rearrange them to form meaningful sentences.
The first one has been done as an example. Write the corrected sentences in your answer sheet against
the correct blank number.

1. Example : The most important task / is to defend / an air attack / of the Air Force / by an

enemy / the country / against.

The most important task of the Air Force is to defend the country against an air attack by an
enemy.

(a) When the enemy / destroy the enemy planes / sends planes to attack, our planes must,
(b) We can / the enemy planes / the approach of / if we know about / do this only

(c) We have / called Radar / of equipment / for this purpose / a special kind

(d) The Air Force / the enemy planes / by shooting down / can protect / our places

2. Example : large quantities / of warm water / from the body / drinking / thus removing poisons
/ results in sweating.

Drinking large quantities of warm water results in sweating, thus removing poisons from the
body.



(a) from the body / fasting also / removes / poisons

(b) every four hours / the fast / take liquids / during !

(c) the fast / grapes / is recommended / and oranges / during / juice of lemons
(d) may also / vegetable soup / your doctor / recommend

4. Mention the kind of sentences (Assertive, Interrogative, Imperative, Optative or Exclamatory)

in the blanks against it.

(i) Ah! What a kind morning it is!
(ii) Do you find it interesting.

(iii) Smoking is bad for health.
(iv) Always help the needy.

(v) Hello! I am Sania this side.

5. Complete the following sentences by choosing appropriate phrases from the box given below.

how to do it, to my door, in the east, on a wall, of gold

(i) The sun rises

(ii) I asked my friend to show me
(iii) My mother has a chain

(iv) There came a beggar

(v) Humpty Dumpty sat —

6. Separate the Subject and the Predicate in the following sentences:
1. The boy stood on the last bench.

2. The singing of the birds

3. A good boy passed the examination.
4. ltisvery hot.

5. The cow gives us milk.

6. The earth revolves round the sun.
7. Edison invented the phonograph.
8. Delhiis the capital of India.

9. We cannot make the ocean dry.

10. No man can serve two masters.

7. Some pairs or groups of words are often confused and likely to be misused because these are

identical in sounds or meanings and form or origin. Check the list given in Chapeter 18 and learn and

write any 10 of them and try its exercise (any three)

8. A synonym is a word that is similar in meaning to the other word. Check the list given on page 177

and learn any twenty (20) with the given exercises.



9. An antonym is a word which is opposite or contrary in meaning to the other word. Check the list given
on page 178-179 and learn any twenty with the given exercises.

10. An idiom is an expression which plays an important role in English writing. It is an expression whose
meaning cannot be derived from individual words forming the idiom. Read the list given on page 182-
183 of your grammar book and learn any twenty-five with its exercises.

11. A sentence which asks a question is called an Interrogative sentence. Question Mark(?) is always put
at the end of the sentence. For example:

e Do you read your book? What is your native language?

Fill in the blanks with appropriate words given in the box.

what, where, who, which, when

1. Father asked the children .......... books do they want to purchase?
20 does this bus leave for Agra?

30 has happened to you?

4. is the chief secretary of UNO?

S0 e are you going so early in the morning?

B. Change these positive sentences into the interrogative sentences.
1. Metro is a convenient mode of transport.
2. People love to reside in cities.
3. One should work hard to get success.
4. The snake charmer plays his flute well.
5. Leaders are unpredictable people.

12. Complete your notebook and learn the syllabus done so far. If you are not having the writing
content then message your teacher for any help.
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Class 7 Science Chapter 4 — Heat
Exercise Questions

1. State similarities and differences between the
laboratory thermometer and the clinical thermometer.

Solution:
Similarities

» Both are made of glass and consist of long narrow
glass tube.

+ At one end both of them have a bulb.

* Bulbs of both the thermometers consist of
mercury

* Celsius scale is present in both the thermometer

Differences

Clinical Thermometer Laboratory
thermometer

Temperature range if 35 Temperature range is
t042%c -10t0110°%¢

Used to measure human Used to measure

body temperature temperature in the
laboratory

It has kink which It does not have a

prevents immediate kink

backflow of mercury



2. Give two examples each of conductors and insulators
of heat.

Solution:

Conductors: lron and Copper
Insulators: Plastic and wood
3.Fill in the blanks :

(a) The hotness of an object is determined by its

(b) Temperature of boiling water cannot be measured by
a thermometer.

(c) Temperature is measured in degree

(d) No medium is required for transfer of heat by the
process of

(e) A cold steel spoon is dipped in a cup of hot milk.
Heat is transferred to its other end by the process of

(f ) Clothes of colours absorb more heat
better than clothes of light colours.

Solution:

(a) The hotness of an object is determined by its
temperature.

(b) Temperature of boiling water cannot be measured by
a clinical thermometer.

(c) Temperature is measured in degree Celcius.

(d) No medium is required for transfer of heat by the
process of radiation.

(e) A cold steel spoon is dipped in a cup of hot milk. Heat
is transferred to its other end by the process of
conduction.

(f ) Clothes of dark colours absorb more heat better than
clothes of light colours.



4. Match the following : (d) night

Column-| Column-ll

(i) Land breeze blows during (a)
summer

(ii) Sea breeze blows during (b) winter

(iii) Dark coloured clothes are (c) day

preferred during

(iv) Light coloured clothes are (d) night

preferred during

Solution:

Column-| Column-Ii

(i) The land breeze blows during (d) night

(ii) The sea breeze blows during (c) day

(iii) Dark coloured clothes are (b) winter

preferred during

(iv) Light coloured clothes are (a)

preferred during summer

5. Discuss why wearing more layers of clothing during
winter keeps us warmer than wearing just one thick
piece of clothing.

Solution:

More layers of clothing during winter keeps us warmer
than wearing just one thick piece of clothing because air
gets trapped in-between layer. As air is a bad conductor
of heat it does not allow the escape of the heat from the
body.



6. Look at Fig. 4.13. Mark where the heat is being
transferred by conduction, by convection and by
radiation.

Fig. 4.13

Solution:

7. In places of hot climate it is advised that the outer
walls of houses be painted white. Explain.

Solution:

In places of hot climate, it is advised that the outer walls
of houses be painted white because white colour reflects
back most of the heat that is incident on it as white is a
poor absorber of heat. This helps in keeping the house
cool.

8. One litre of water at 30°C is mixed with one litre of
water at 50°C. The temperature of the mixture will be

(a) 80°C (b) more than 50°C but less than 80°C (c) 20°C
(d) between 30°C and 50°C

Solution:

The temperature of the mixture will be between 30°C and
50°C because hot water loses the heat and
simultaneously cold water gains heat this keeps the
temperature in between 30°C and 50°C.



9. An iron ball at 40°C is dropped in a mug containing
water at 40°C. The heat will

(a) flow from iron ball to water.

(b) not flow from iron ball to water or from water to iron
ball.

(c) flow from water to iron ball.
(d) increase the temperature of both.
Solution:

Answer is (b) not flow from iron ball to water or from
water to iron ball because both of them have the same
temperature of 40°C,

10. A wooden spoon is dipped in a cup of ice cream. Its
other end

(a) becomes cold by the process of conduction.
(b) becomes cold by the process of convection.
(c) becomes cold by the process of radiation.
(d) does not become cold.

Solution:

The answer is (d) does not become cold because wood
is a bad conductor of heat.

11. Stainless steel pans are usually provided with
copper bottoms. The reason for this could be that

(a) copper bottom makes the pan more durable.
(b) such pans appear colourful.

(c) copper is a better conductor of heat than stainless
steel.

(d) copper is easier to clean than stainless steel.
Solution:

The answer is (c) copper is a better conductor of heat
than the stainless steel.



save the files and mail to the id given below:

mona.t19145@gmail.com
e Revise ch-1 and 2 & Read ch-3.
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Question 1 Explain in mt%%ﬁ%ycle. Draw the figure of Rock Cycle™

given on page ng_ A-51 of SST text book.
Question 2: Write about the literary sources of history in details.

Question 3: (Life Skills) All of yg face problems in life. Many of us fear them and
become worried. Some of us take them up as challenge and overcome
them. Creative people see problems as interesting challenges and solve
them in right earnest. Characteristics of a creative person:

+ Enjoys challenges.

+ Seeks solutions.

e Optimistic and curious.

o Sees problems as opportunities.
» Sees problems as interesting.

« Doesn’t give up easily, rather perseveres and works hard.

Keeping the above traits in mind narrate an incident where you or someone

known to you have shown creativity.




Class 7 History Social
Science Chapter 1 Tracing
Changes Through A
Thousand Years

Very Short Answer Type Questions

Question 1. Who was al-ldrisi?
Answer: al-Idrisi was an Arab cartographer.

Question 2. Who is a ‘cartographer’?
Answer: Cartographer is one who draws a map.



Question 3. What difference do you notice in the
map drawn by al-Idrisi?

Answer: In the map drawn by al-Idrisi we find a
completely different view. Here south India is
shown at the present north India and Sri Lanka is
the island at the top

Question 4. Who used the term Hindustan for the
first time and when?

Answer: Minhaj-i Siraj used the term ‘Hindustan’ for
the first time in the thirteenth century.

Question 5. What sources do the historians use for
the study of a particular period of history?[V. Imp.]
Ans. The historians use the sources like coins,
inscriptions, architectures and textual records for
the study of specific period.

Question 6. What do you mean by archives?
Answer: Archives were the places where
manuscripts were collected.

Question 7. Who were scribes?
Answer: Scribes were those professionals who
used to copy down the manuscripts.



Question 8. How did the scribes copy down the
manuscripts?

Answer: Scribes copied down the manuscripts by
hands.

Question 9. What changes took place during 700
and 17507 [V. Imp.]

Answer: Many technologies like Persian wheel in
irrigation, the spinning wheel in weaving, and
flrearms in combat made their appearance. Some
new foods and beverages like potatoes, corn,
chillies, tea and coffee also arrived in the
subcontinent.

Question 10. What factors contributed to the variety
of developments?

Answer: The new technologies and innovations
came to the subcontinent with the people who
came from other areas and settled here.

Question 11. What were the new groups of people
to be prominent in this age? [V. Imp.]

Answer: Rajputs, Marathas, Sikhs, Jats, Ahoms and
Kayasthas were the groups which came to be
prominent in this age. They availed most of the
opportunities of the society.



Question 12. What do you mean by Jati Panchayat?
Answer: Jati Panchayat was the assembly of elders
which controlled the conduct of the members of
their jati They had their own rules and regulations.

Question 13. Who was the Chief of the village?
Answer: Villages were controlled by a Chieftain.
Even the smaller Jati Panchayats were bound to
follow the village administration.

Question 14. What was the stretch of Delhi Sultan
Ghiyasuddin Balban’s Empire?

Answer: According to a Sanskrit Prashasti Delhi
Sultan Ghiyasuddin Balban's empire was stretched
from Bengal (Gauda) in the east to Ghazni (Gajjana)
in Afghanistan in the west. It also included all of
south India (Dravida)

Question 15. Why did Brahmanas dominate in the
society during this period? [Imp.]

Answer: Brahmanas were the only class of people
who were proficient in Sanskrit language. This was
the reason that made them prominent.



Holidays homework GK

ok wnNPE

Write the name of all cabinet ministers of India

Write the name of all state cabinet ministers of haryana.

Write the name of all states of India.

Write the name of chief ministers of different states of India.

Write name of educational board followed by different states of India.
Write a paragraph about your grandparents.



[ Keywords of chapter 3 ]

. Cocoon: - The silky covering spun by the silkworm (or caterpillar)
is called cocoon.

. Fleece: - The hair covering the body of wool yielding animals
such as sheep, yak, goat, etc.

. Reeling: - The process of taking out silk fibres from the cocoons
is called reeling.

. Scouring: - The process of washing the fleece to removes dust,
dirt and grease is called scouring.

. Sericulture: - Sericulture is the process of rearing silkworms for
silk.

. Shearing: - The process of removing hair from the body of a
sheep is called shearing.

. Silk moth: - An insect that lays eggs to produce silkworms which
spins silk.

. Silkworm: - The larva (or caterpillar) of a silk moth which
produces silk is called silkworm.

. Sorting: - Sorting is the process of separating fleece (hair) of
different textures.




Keywords of chapter 4
Heat

. Celsius scale:- The Celsius scale, also known as the centigrade
scale, is temperature scale based on 0°C for the freezing point of
water and 100°C for the boiling point of water.
. Conduction: - The process of transferring of heat from the hotter
end to the colder end of an object is known as conduction.
. Conductor: - Materials which allow heat to pass through them
easily are known as conductors of heat.
. Convection: - The process of heat transfer from one part of a
fluid to another part by the actual movement of the particles of
the fluid is called convection.
. Insulators: - Materials which do not allow me to pass through
them easily are known as insulators of heat.
. Land breeze: - The cool air that moves from the land to the sea is
known as land breeze.
. Radiation:- The process of the transfer of the heat from one place
to another place without heating the medium is called radiation.
. Sea breeze:- The cool air that moves from sea to the land is
known as sea breeze.
. Temperature:- Temperature is the degree of hotness or coldness
of a place or a body.

Thermometer:- Thermometer is a device which is used to
measure temperature.




Holiday homework assignment

Subject -GK

no is the Prime Minister of India?

no is the president of India?

no is the home minister of India?

no is the Defence Minister of India?

no is the Finance Minister of India?

no is the law minister of India?

no is the foreign minister of India?

nat is COBAS 6800 rtpcr machine?

nich Abhiyan during lokdown is started

PM Modi to combat COVID-19 crisis?

10. Which is the first digital state in India?

11. Which country is alleged to be
responsible for spreading covid-19
pendimic?

12. Which is the largest country in the world?

. When is army Day celebrated?

14. When is international Women's Day
celebrated?

15. When do we celebrate World Earth Day?
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16.

17.

18.
19.

20.
21.

22.
23.
24.

25.
26.

27.
28.
29.

30.

Which is the highest civilian award of
India?

Who is the governor of Reserve Bank of
India?

Who is known as 'Frontier Gandhi'?
Sahitya akadami award is associated
with which discipline?

Who said 'Jai Jawan Jai Kisan'?

Who spoke these words 'give me blood |
will give you freedom™?

Who is India’s first citizen?

Who is India's third citizen?

When is World Environment Day
celebrated?

Who is the first woman to go to space?
Which is the most widely spoken
language in the world?

Who is India's second citizen?

Where is the Parliament of India located?
Who is the author of the famous book my
country my life?

What is the full form of SIM?




31.
32.
ok
34.
S
36.
37.
38.

39.
40.

41.
42.

43.

44,

Who is the author of the famous Harry
Potter book series?

Which is the instrument used to measure
blood pressure?

'Stars and strip' is the nickname of the
flag of which country?

What do a.m stand for?

What do pm stand for?

What is the full form of CBSE?

When is world heritage day celebrated?
Who is the author of the book 'Wings of
Fire'?

Name the border of India and Pakistan?
Who is considered the father of the
Indian space program?

Taj Mahal is also known as which name?
The terms 'bull and bear’ is associated
with?

What is the name of India's longest
Highway having a length of 4112 km?
Yahoo search engine was developed by
whom?




nat are the names of four Vedas?
nat does BC stand for?

nat does AD stand for?
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